T2 FEIRATA~26%E8H31H

TR R 1R FEE]
2014,837 2,014,837
500,000 500,000 015045
2,000,000 1,808,390] A 191,610/ AL E{356{%)- %ﬁﬁﬁ =
200,000 134,000 A 66,0003 10§
1,000 314 A 685|FERE
4,715,837 4,457,541 A 258296

TE RE iR ok
[ 1,300,000 1,300,000 OlEmaIns BEe
Z| T 300000] 207490 A 92510/axnnrsmsruEn
B 8| 500000 157,792] A 342,208|timikE
£ T 500,000] 2430844 A 256,156|BnRan ek
Z| 550,000] 406,417 156417 (kM. BERS
%] 1,865.837 O] A 1865837
H 4,715,837 2,31‘5,543 A 2400 294
4457541F ORA) - 2315543/ (ZH) - =2,141,098F (RFERHSE)
| Hems | ¥3,050,000] |
EROBY L EFET,
FRi264E1081H
& Bt

_tnga) L}$Eﬁfd~L\L~&€‘nEBBL$—§—o
o6 /P ﬁ&é}. =

RiEE g B /%?L

wux 7o [

B




